NAME DATE
Chapter 7 Test, Form 1C

Write the letter for the correct answer in the blank at the right of
each problem.

1. If % =% which of the following statements must be true?

Assume that x and y are not zero.

- = a_b a_b
A. ax = by B. ab = xy C.y—x D.x——y 1.
For Questions 2—-4, solve each proportion by using cross
products.
X 3
2.9 =14 ,
A. &7 B. 12 C. 15 D. 215 2.
15 _ 10
3. 75 = % ,
A. 3 B. 33 C. 30 D. 40 - 3.
x 2
4. x+3 B
.1 B. 2 C. 6 D. 15 4.

5. Twenty-four cans of soup cost $28.80. How much do three cans
of soup cost?
A, $3.60 B. $2.50 C. $1.20 D. $0.40 5.

6. On a map of the United States, 1-;: in. represent 810 mi. If it 1s

approximately 2% in. from Miami to Dallas on the map, what is

the actual distance in miles?

A, 324 B. 486 C. 1350 D. 1620 6. S
7. Which pair of polygons could be similar?
A. 23.8 B.
6.1 19.5
6.1 23.8 14
10 15
12 T
C. . 16 D. , , S ~4 7.
4 16 N 6
8.In AEFG, HI | GF. If EI = 8, IF = 4, G
and EH = 5, find HG. H
§ Al B. 2 5
C. 2.5 D. 10 P S S | 8.
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NAME DATE

Chapter 7 Test, Form 1C (continued)

. If AB | XY, which proportion must be true? ¢
A AX_BY g AX_YC /\
+ AC T BC + XC T BY X y
cxX _CY XYy AX
C. 5y = ax D. 35 =Tx \ 9.
A B
10. In the figure at the right, ALMN ~ APQR,
NO is an altitude of ALMN, and RS is an R
altitude of APQR. Which proportion must
be %156? LM NO _ LO A
A Rs=Pg B-RBSTSQ /K
LO _ MO NL _ RQ L O MP S Q
11. For the figure at the right, find the value of x. X+ 6
A, -2 B. —-12 8
C. 12 D. 6 11.

16

19. If AABC ~ ADEF, m is the length of the median to AC, and n is
the length of the median to DF, which proportion must be true?

-
:
!
1
|

BC m AC _ DE n o om m _ DF
R A FF=% B. =~ =" C. 36 = &F D. - =Z%¢ 12.
; | I1 13. A tree casts a shadow of 48 ft. Nancy, who 1s b ft tall, casts a
n ‘1 shadow of 9 ft. About how tall is the tree? )
| 1 A. 86.4 ft B. 44 ft C. 36 ft D. 263 ft 13.
14. Which of the following can be self-similar?
i A. alight bulb B. an orange C. atree D. none of these 14.
| 15. Find the sum of the first 30 numbers in the second diagonal of
e Pascal’s triangle.
L A. 30 B. 435 C. 465 D. 2070 15.
| Bonus
ma The measures of the angles of a triangle are in the ratio 1:5:6.
é Which is not a measure of one of the angles?
A 12 B. 15 C. 75 D. 90 Bonus
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